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Choose the most appropriate phrase to com-
plete the sentence : ‘Wait here.... v

1) while ] come back 2) ugless l return back
3) until | have come back. . 32,

4)till I come back | -
Choose the most efective word to fill in the
blank to make the sentece meaningfully com-

plete:

The result does not............. .. my original con-
-ception of the matter. N

1) accords with 2) correspond with 33, -

4) reconcile to

B (B) He said that he would attend the

. PLROSUEI

1) 17382465

Choose the one which best expresses the mean-
ing of the underlined phrase iri the sentence:
Tam leaving India for good.

1) permanently

2) to do good for myself

3) to do good for the country

'4)todonobodygood _ ' :

_Choosa the most correctaltemahve showing :;

"~ Andirect narration for the given *Direct Sm
He said, * I shall sttend the programme.” i
~ (A) He said that he should attend the

programime.

progragime, _
1) Only (A)is correct - ¢
2)-Only (B) is correct _

3) Both {A) and (B) are correct.

4) Both (A) and (B) are not comect
Choose the combination of numbers so thaj
alphabets arranged accotdmgly will fro
meanigful word :

12345678 :
2) 13-728654
3) 17286354 4)18243765
Select the word which is closest to the oppo-;
site in meaning to the underlined word in the
given sentence. .

I was shocked to hear the scrgm!ous talks a}
the members to the Hosed, _ :
1) Decent 2) Relevaat _
3) Aceurate - 4)Usefal. = = ¢
Choose the alternative to make the sentence: ni
correct response: - '
His wife and children penshed ...................... .1
1) after he was hanged ;

-2) after he was hung

3) after he had been hanged

4) after he had been bung :
Choose the correct alternative to fill in the
‘blanks : : :



" wie. Mansgor and ...

of our hotel is 3 very eﬂergetrc person.
1) The, the, 2)A, an
3) The, an . 4) The, No article

. Choose ﬂlse ‘Grammattcalty Wrong’ sentence.
1} It all ended as we expected. C 36,

2) He is searching for his pen.

3) Do you believe in God ?

4) The Taj had never seen by us :
Read the following passage and answer the
geestions by selecting the most appropnatc al-

- ‘ternative : (Ques No 35 to 39)
" The supervisor would have to change his37..

attitude towards people first. The staff under
him n;ustbe perceived as human beings with
feellings and needs. They are not automations

within a complex work machinery. One of the 38.
- greatest needs of today’s worker is to have a

feeling that ke is in control of his work place,
and not vice - versa. The best way is to satisfy
this need as far as possible. He must feel firstly
that his work us meaningful. To do this the su-

pervisor must delegate responsibility and lim- 39.
-~ ited authority fot the man to execute his job well.

The subordinate must be properly trained to
assume responsibility and authority. Once he is

' ready to assume these he can be made account- 40,

able for his job. Very often supervisors assume

~ all responsibilities and accountability for fear
- oflosing cotitrol of the workplace. This makes

workers under hitn pawns in a vast chessboard.
Delegating -accountability gives the worker a
purpose in life and the need to do a job well.

- Most important is to sit with each worker end

chalk out common objectives and agree norms

~ ta achieve them. This gives workets a security 41.
as to what is expected of them. When he has

met his objectives he has a feeling of achieve-

" ment This feeling of achievement is the great-

est lIlOth&tOl',

.. Executive D:rectoﬂs.

© 2)Keep them happy
~ 3)have a congenial atsmophere t werkplace
jectives and How to achieve them is ...
3) not atall necessary 4) optional:

- and “II” and choose the most appropriate al-
- termative: :

" as all that glitters is not gold.

Responsibility and accountability make a
worker, ....... peeserevsinens :
1) shirk his dutles :
3) tense and frightened.

2) do his ij properly.

© 4) vulnerable before his supervisors.

Supervisors do not delegate responsibility and :

“authority to their subordinates because ..........

1) subordinates are nof capable enough. - °

. 2) they can’t trust their subordinates.
~ 3) they are apprehenswa of losing their ho!d

on the place of work

4) final resonslblhty is theirs_.

The greatest motivator is .........

1} a good sqbcrvisor 2) a good enviroment
3) a sense of security )

4) fulfillment of purpose. :

A humare attitude on the part of the supem-g
sor towards his staff is necessary to.......
1) get them to work

B AR e ©

4) get the best out the them .
Orientation of subordinates of common ob-

1) not very important 2} a roust

Read the given two sentences numbered ‘I’§

I) We have been pals for years,

I) A pall of smoke hung over the town.
1) Only sentence ‘I’ is correct

2) Only sentece ‘I’ is correct.

3) Both ‘T’ and ‘II’ are correct.

4) Both ‘I’ and ‘I’ are not correct
Cheose the most cotrect altematlve to fill in’
the blanks: '
Never judge ..........

ametal .......its g!ftt_ér

1} No preposition, by

" .2) No prepositen, with



42.

”

4.

‘On hearing the'loud hoise, he stopped and go, 5;_{
+ down from his bicyele.’ .

1) got 1) got from  2) gotdown 56,
3) got off _ 4) got of '
Identify the ‘Figure of speech’ in the given line
: ‘Death, be not proud.” - N 57.
1) Metonymy 2) Apostrophe
3) Epigram 4) Synecdoche 58.
The phobia about air is ‘Acrophobia’ The pho-
bia about dogs is . '

1) Catrophobia 2) Chronophobla 59.
3) Cacophobia 4) Cynophobia _
Choose the one which is closest in meaning to

_thegivenword: = '
‘Gambit’

1) Appesl - 2) Expression - - 60.
3) Trick 4) Explanation

46,

3) of preposition; by  4) of prepostion, with 49,

Choose the one which best expresses the mean-
ing of the given idiom :

“Spick and Span’
1) Neat and Clean
2) Outspoken arid Briltiant _
3) Aready-inade thing 4) Garrulous ~ - 50,
. Find out the ‘correctly spelt’ word:
1) comission - 2) commisson
'3) commision - 4) commission -

Some parts of the sentefice which are labelled”
P,Q, R and S have been jumbled up.

Choose the combinations so that the parts 51.

‘arfanged accordingly will from a meaningful
sentecne. ' _ 52
Gis ' S '
P’ for a man. : -
Q: when ke accompames a lady - &

R : an accepted custom
S : to open the door

"1)PSQR 2) PSRQ' 3) RPQS 4) RPSQ 54.

Choose the most correct aliernative which can

~ be substitued for the underlined part to make 55.

the sentence grammattcslly correct:
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Choose the most suitable onefword’ for the
given expression

" ‘A poem Mﬂ'ifmaat&edem}ofsommlowd

and lost.’
1} Maiden Z) Pun
3) Elegy 4) Sonnet

Find ont which patt of thie seritece has an er-:
ror. If there is no tmst’aie the answer is ‘No
error.” .

We lost the cbsnce(A )} / to win(B)/ Hw
match(C) /No error(D) '
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